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SIMPLY IRRESISTIBLE

2 balls of Drops Alpaca (50 gr /167 m each) or any fingering yarn.
4°5 mm Needles and 80 cm intercam. Cable

Measurements 45 cm x 200 cm

Blocked in stocking stitch: 16 st x 25 rows (10*10cm)

Gauge is not important but any change will result in finished size and
yardage requirements.

K: Knit

P: Purl

Yo: Yarn over

PM: Place marker

SM: Slip marker

K2tog: Knit two stitches together

P2tog: Purl two stitches together

Ssk: slip 1 knitwise, slip 1 purlwise, return to left needle and knit together
through back loops.

S1, k2tog, psso: slip 1 Knitwise, knit two stitches together, pass the slipped
stitch over.

Kfb: knit in front and back into one stitch.

Cast On 2 stitches.

Knit for 7 rows and on the next, work these set rows:

Row 1: K2, yo, turn work 90 degrees *pick up 1 stitch, yo* repeat twice
more, turn 90 degrees, pick up stitches along the edge (2 CO st). 11 sts
Row 2: K2, Pm, yo, p7, yo, Pm, k2. 13 sts

Row 3: K2, sm, Kfb, k to 1 st before marker, kfb, sm, k2.

Row 4: K2, sm, yo, p to marker, yo, sm, k2.

Repeat Row 3 and 4 until row 91.

Row 92: K2, sm, p2, p2tog, p to 4 four stitches before marker, p2tog, p2,
yo, sm, k2

Now work on Lace Panel as written or using following Chart.

Row 1(RS):
K2, SM, kfb, k1,yo, k1 (k1,k2tog,yo,kl,yo,ssk) repeat until 4 sts. remain before

marker, k2,yo, k1,kfb, SM,K2
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Row 2 and all WS:
K2, SM, yo, p to marker, yo, SM, K2

Row 3 (RS):
K2, SM, kfb, k1, yo, k3, yo (sl1 k2tog psso, yo, k3,yo) repeat until 8 sts, remain

before marker, sl1 k2tog ppso, yo, k3,yo, k1,kfb,SM,K2

Row 5 (RS):
K2, SM, kfb, k2, yo (k1,yo,ssk,kl,k2tog,yo) repeat until 4 sts. Remain before

marker, k1,yo, k2, kfb, SM, K2

Row 7 (RS):
K2, SM, kfb, k1, yo, sl1 k2tog psso, yo, (k2, yo, sl1 k2tog psso, yo, k1 ) repeat

until 2 sts. Remain before marker, k1 kfb, SM, K2

Row 9 (RS):
K2, SM, kfb, k4, yo, k1, yo, ssk (k1, k2tog,yo, k1,yo,ssk) repeat until 5 sts. Remain

before marker, ssk, k2, kfb, SM, K2

Row 11 (RS):
K2, SM, kfb, yo,k3,yo, (sl1 k2tog psso, yo, k3,yo) repeat until 3 sts, remain before

marker, k2, kfb,SM,K2

Row 13 (RS):
K2, SM, kfb, k2, yo ,ssk, k, k2tog, yo , (k1, yo, ssk, k1, k2tog, yo) repeat until 5
sts. Remain before marker, k1,yo, ssk, k1, kfb, SM, K2

Row 15 (RS):
K2, SM, kfb, yo, ssk, yo, k2tog,yo, sl1 k2tog psso (k2, yo, sl1 k2tog psso, yo, k1 )
repeat until 3 sts. Remain before marker, k2, kfb, SM, K2

Row 17 (RS):
K2, SM, kfb, k2, yo, ssk, (k1, k2tog,yo, k1,yo,ssk) repeat until 5 sts. Remain before

marker, k1, k2tog, yo, k1, kfb, SM, K2

Row 19 (RS):
K2, SM, kfb, k2tog, yo, k3, yo, (sl1 k2tog psso, yo, k3,yo) repeat until 2 sts,
remain before marker, ki1, kfb, SM, K2

Row 21 (RS):
K2, SM, kfb, k2, yo (k1, yo, ssk, k1, k2tog, yo) repeat until 4 sts. Remain before

marker, k1, yo, k2, kfb, SM, K2

Row 23 (RS):
K2, SM, kfb, k1, yo, sl1 k2tog psso, yo, k1 (k2, yo, sl1 k2tog psso, yo, k1) repeat

until 3 sts. Remain before marker, k2, kfb, SM, K2
Row 24 (WS): K2, SM, yo, p to marker, yo, SM, K2

Work to rows more, for a better finish as follows:

Row 1: k all stitches
Row 2: K2, sm, purl until marker, sm, k2
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BIND OFF AND BLOCK

Bind off using your preferred stretchy bind off method.

I did like this:

K2, *knit this two sts trought the back loop, k1* repeat until the center or first lace
pattern and work picot bind off (CO 3 sts in the same st and bind off it. You can
use a crochet hook for do it). Repeat the sequence until all sts are BO.

An stretchy bind off is needed to block out the lace pattern.

Enjoy!!
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Sk1, k2 tog, ppso /\

P: purl
K2tog: /
SSK: \

No stitches

Edge stitches are not charted, continue working them as established in Cast on
section.



